Scanned by CamScanner



Adding [ntegers

What if the integers have the same sign?

A Closer Look: Find the sum of -5 + -8,

Add the -5+-6 Usethe | Thesignis - (negative)
numbers., sign of the
5+6=11 integers. -5+-6=-11
What it means:
(1) Adding 5 + 6 is like adding the absolute values of the integers,
|-5|=5and |-6|=6 and 5+6=11
(2) The sign represents the direction and how far the sum is from zero.
-11 is eleven spaces to the left of zero.
Find the sum. Find the sum. Find the sum. Find the sum.
44+9 -2 +(-8) 22 + 30 -15 +(-16)
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L What if the integers have different sighs?

A Closer Look: Find the sum of-3 + 5,

o Subtract the
smaller number
from the larger
number.

-2+5

5=35=2

Use the sign
of the larger

number. -3+5=2

Sislarger than -3

Z

What it means:

[-3]=3and |5| =

(1) Subtracting 3 from 5 is lik

(2) The sign represents the direction
2 is two spaces to the right of zero,

e subtracting |-3| from | 5|,
Sand 5-3=2

and how far the sumis from zero.

Find the sum.,

6+ (-7)

q'-@ =-|

Find the sum,

=11 + 1

1 -1 =10

Find the sum,

-8+ 20

D-% = Il

Find the sum.

9~ 49 + (-4)

=5
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Modeling [nteger Addifion

Using Integer Tiles or Counters

model integer addition with physical tiles or co
another color to represent the positive.

On this page, use

There are various types of integer tiles and counters,
unters, u

+ | torepresent + 1 and

haped and circular-shaped. To

including square-9
he negative and

se one color to represent L

to represent -1.

number of counters.

N\

Step One: Model -7 + 4 Step Two: Step Three:
Count out the proper Eliminate zero pairse Remaining counters
represent the sum

+{+ N+ M+

There are 3 negative tiles left.
-7+4=-3

WAY

How do zerp pairs work? The a

zero. Since one positive counter equals +71 and one neg

dditive inverse property states that the sum of a number and its opposite is
ative counter equals-1,1 + (-1)=0.

Using Number Lines

. Start at the first number. Draw a ray the

length of the second number (negative = go left;
positive = go right). The position of the ray’s tip
represents the sum.

Method Two: Start at zero. Draw a ray the length of
the first number (negative = go left; positive = go right).
Draw a mark above the first integer. Draw another ray
the length of the second number. The position of the
second ray’s tip represents the sum.

>

PR R Y
4+8=4
s

1. Write an addition number sentence based on the

model. -

2. Write an addition number sentence based on the
model.

2 NERREE L
=4 505 -2.45=
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Name Date

K¥ Help the process detectives understand the solutions by attaching the steps
: to Baoh nr‘nb]em iﬂ +ho nrnanas or

Find the l Add P2 Use the sign of
ol Gl =bsglute values 3+7 the addends -10
of -3 and -7
2 th
Find the | Subtract Use the sign ||
absolute values 8 — 7 . L 6
of 8 and -2

Findthe | Subtract
11+6/ (SR =6 i 5
i ;) 2 <
19+1(cd] Find the | S}llgt:a;t U:ri g:i ;ign 15
absolute value
4 of 19 and -4 fae—
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